101001-3-1.notebook October 01, 2010

Gra\ (2D = x“% ¥xd $ = x 4 £27F
(x+3)(rb®) = XHbx +F = *THex 43T

(x=-P(x-¥) = Y x $HG = xStk 2T

(g-u}(\r.-l—u = x=120 =
(=) (x=10) = X= 22X+ 121 = x=2aw 40

COHP'-C‘V +e '5““

a
3/-_),-&-‘:-0
b

A X — (x-‘f\t’—‘9 6“"]‘- e
A Riewr Y Dewon 1
W= x-Bx+4 -k (Daley)
y = (¥" o -G 7
VM'L‘& - (‘c "\ (4 “') I' (Q
Avrs of si-rw 'Lu, *x=Y (’4,—!(,\
Trmerex S “5. X & C‘l',“y x-\'dh.n: a’
D.ccr-eqva:): X € C—-o,‘c_] whieh Ho decire f
49 s oo mo) add N “‘“""-"cs"-

’P'-:{'J [ y=F&) Gr some 8633
= [~ 1k, oo) , -
E e Mw VJM K1 .3.5_|_AQ X"‘l




101001-3-1.notebook October 01, 2010

Dee: (oe 0]
(he) = caloj



101001-3-1.notebook October 01, 2010

Alx-N"+ 1¢

@ = 3Ix- |
Y % L% 4 Co,1)

“bW= 2(\&.\4,‘ ) 1
Y= (W= w2 o) + o
= 0o Uy ) 236 41 Roughed /+ ..

= J(x-D =12+ 'K{‘v /
Y (0,0
= 3lx-2) =\ _
»
Gosopy omuJL c. #s 950 l\'/)
(l,-tl




101001-3-1.notebook October 01, 2010

stes UL
ra.J + N‘\'th

@ 'PCt\= —2xte 8x us-:-’ -‘/..3 4o ;_‘lou'a..
A= -1, b= -8, ¢ =9 -2(x42) +17 ;
a(x=h)" +&

e 202N T -1]-9 -g ¢
FERN = N -86¢) +4 Y&
= -8 +L+T B Q
= 1T S { &
Mg Way £¢a)

Foy: -2 - Bx +9

= =L (W4 Yy +T-N) +9

= Uk D” BT (i, k) = (-2, 1%)
¥



101001-3-1.notebook October 01, 2010

*#s ¥l-c2 ¢ ,\,4.,0.2 é....-l a ¢°""ﬂ‘e"""
74(.)“ /Ld w'LM_sg_p""' -c'(f

" ‘J;-';_(x.‘.g) +8 "-"pCK)
B\,&)=63' 3}
®© paanyg c.(.”/‘\ ‘ﬂ
£z ~ 2" +8 = -0 ~> (o,-0)

t-3,8Y

% Yo

-2 (<3 +8 = o

\I X o= -2l = -8

a‘“ﬂ: 2
—— Cx-l-'i) =y
(“ ) - o s C,H.‘)‘: v x+3 = +9
MJ '+‘v ass o, l_ N
303- w oS‘I‘I\J ‘*43 =2 ==3%f2

- Q (—l,b), C—S"o)



101001-3-1.notebook October 01, 2010

Lty do T oo ‘l‘kn‘-\j C-. VN uﬂ.hm.
Y= Ix’=12x |
= (= U 2=V E




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

